01.

02. A ffg=sa: A=

8 + 4+/51 @7 wofape frfar o |

(a) £(3—21)

(b) +(v10-2i) (c) (VIO ++2i) (d) +(3+2i)
ST (c) 3 8-+ 4/5i=10+241032i -2 = (V10 +2.JI_0.\/§i+(J§iT = (V10 +/2i)

\/8+ 4+/5i =i(ﬂ+ \/Ei)

@ °
Y 14| -2

4

1

TYE: (e) ; A=

1 4
1[-6 -4
b) —
()14_2 ]
4- . A_]
6 S

© 6
C_
14| -2
1[-6 -4
-2 1

A

Co—

1 |—6

" C14

03. (o37 3f7 wege @ fifr s A=i—j+k and B=—i+j+2k

05.

(a) 0°

=0 =cos™’

(a) sin 36°

dx
y tan x
) 2

(a

L

st (d) ; A=i—j+

(b) 45°

k: B

—1-1+2

(c) 95° (d) 90°
£ )
=i+j+2k = 0=cos” 1}—].3*
JAl[BY,
=cos_ (0)=90°

VI2 +12 + 12417 412 4+ 2°
04. W= T+ : sin 18° + cos 18°

(b) 2— sin 47°

fan x
2

(b)

ANYE: (a); y=+/secx. yz =secX,; 2y

(c) —_JZCUSZ?“ (d) J2c0527°

(c) cotx

dy

— =secxtanx;
dx

T4l (e); Use Calculator. sin18°+cosl18° = J2 cos27°.
9 ot y = ./Secx

(d)

cotx
2

1Y

(e) None

(e) None

(e) None

dy 1 Jsecx y tan X
= secxtanx =
dx 2

2

06. a3 @G t cﬂmswétz?ﬁwmmdﬁmwcﬁﬂﬁamwm?

(a) 12 ft/sec

srrer: (d) : S=5t+%t3

(b) 10 ft/sec

SLV= % =3 +l x2xt=5+t ..(v),=5+2=7 {t/sec.

'

(c) 8 ft/sec

2 |
3o i

(d) 7 ft/sec

(e) None

(e) None



TET
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07. p 9979 F© & K—+L—1 g (6, 4)1%*-{%111@?

KUET, CUET, RUET &4 8 141

100 p
(a) 52 (b) 5/2 (c) 25 (d) 2/5 (e) None
2 2

TYE: (c); (6, 4) IR <3, : +4 =1::>16= . S p=2S.

100 p p 100
08. [— dx — =9
e" +e

(a) sin”'e* (b) tan™ ix (c) tan~'e* (d) cos™' e* (e) None
e

TYE: (c); _[ —I I dz ['ﬂﬁ,z=ex]¥tan'[(z)=tan"(e“).

e’ +e” )Z +1 Y z*+1 -

09. 3N 8 5N W=7 43 <= a$ﬁﬁrwﬁﬂ%mﬁﬁmm|mﬁﬁﬁmmﬁ?

(a) 12N (b) 10N (c) 8N (d) 2N (e) None
T (d) ;] 3 . af W = 2N,
10.* [AU(A —-B)]ﬁ[(A'— B)|=7
(a) B (b) A’ (c) B’ do (e) None
A-B
Fare: (d) ; [A U(A-B)]n[(A'-B)]= An(A’-B) (A“B)

ox s, AN(A'-B) =0o.

1 1 1]
11. Wﬁ‘ﬁTW: I. 3 ﬂb
|1 ab ab®
(a) a(l—b)’ (b) b(l—a)? (c) —a(b-1)>  (d) -b(a—1)> (e) None
1-1 17T o 0 1 0 0 17
AEE:(c); |1 a ab|(=|1-a a(l-b) ab =a(1—b)rl——a 1 ab
1 ab ab®] |1-ab ab(l-b) ab® 1-ab b ab®
=a(1-b)[b—ab—1+ab]=-a(b-1)2.
1 1 1 1 1 1
12.* 4= 209 I Tererey + — At AR - ——— 4.
12 23 34 2 3 4
(a) 1,1n2 (b)In2, 1 (c) e, In2 d) c, e (e) None
WHT?{:(&);MW=I+]+I+ ..... U= l =1—1..'.S=——1—

1.2 23 34 " n(n+1) n n+l " n+1




13. (a, b) S (—a, —b) R 25w T4 Mex sl ST @R o 719 @ (—b, a) g e T, @set @ STaere-
(a) ax+by+a +b*=0 (b) ax+by=a’+b” (c) ax+by—ab=0 (d) ax+by=0 (¢) None

srg: (d); (a, b) ¢ (—a, —b) Pl Fewr, roe_y-ob
a+a b+b
= x_a=L;—b:>bx—ab=ay—ab:>bx—ay=0.
a

-, TF JAFEAE Toig oW (@9 TReA, ax + by =k @4 (—b,a) R @,
a(-b)+bxa=k .. k=0. .. ax+by=0.
14. AR FANFAT 1 =sin0 AT FT GI[0-

(a) parabola, focus(1,0) (b) parabola, focus (0, 1) (c) circle, centre (%0]
(d) circle, centre (0,%) (e) None
sargt: (d); r=sin® =1? =rsin0 [CSTIHTEF r 741 @ ]
¥ 2
:>X2+y2=y :}xz_i_(y.__l_ =[1]
2 2
15, [x—1+iy|+[x+1+iy| =4 =T &30 w0 T 9 T /-

2 2

(@) x>+y*=7 (b) y" =4x ©) vy =x"+1 (d)%+%=1 (e) None

x —1+iy|+|x +1+iy| =4 S Jx =12 +y* + Jx+1) +y* =4

FYE: (d) ;

—(x=1)?+y* =16-8/(x +1)* +y> +(x +1)* +y’

:>8JK+I): -I-y2 =]6--|—-[(}-;+])1 _(x_._l)z.]
=16+4x =4(4+x) 24(x+1)> +4y* = (x+4)° '

—=4x> +8x +4+4y" =x +8x +16

2 73

=344yt =12 - 2L =1
4 3
| | 1
16. wwad +—+ =( 99 AYH-
x -3k x x+4/3k
(a) 0,% J3k (b) 0,++/-3k (c) 0,k (d) i% (e) None
1 1 2x% +x* —3k?

1
TYE: (e) ; + =0
(€) x—x@k

+ =0 = >
X x++/3k x(x? = 3k%)
—3x2-3k?=0 . x*—k*=0 .. x=zk. [x # 0 & O A AN @S A ]

R | o




IR } & 1)

17. sm(; ] OF qH-

(a) %Jz—ﬁ (b) i\fz—-x/z-f-ﬁ
(c) %\/Z—J2+J§ (dj %J2+\/2—J§ (e) None

YIS (C); sin(%] = %\/2 — JZ ++2 [Use calculater].

18. w2 <& F 8 4F a3l [oqre fomamie | af 31 426 qemer 2F ¢ 4F+8 wr|r Affasle o1 o, ©re o Iera
s wofaef$s Ut | F g T9-

(a) 5 (b) 4 (c)3 (d) 2 (e) None
2F
T (d) ; fow 2o, 41:;8:25 = 4F+8=8F .4F=8 .. F=2. ‘M
4F 4F+8
X+3
19. f(:»;)_1 i , (x qBI) 99 (O 8 (G JUEHCA-
— LX
(a)mjl},m\{—l} (b)w{—-} sm{ } -(c)m\{l},mx{l}
2 3 2 2 2 2
(d) fﬂ\i-%},iﬁ\{—%} (e) None
s (e): £(x) = "> c R T 1—2x % 0> x ).
1 —-2x 2
X+3 y—3
= L Yy—2Xy=X+3=>y-3=x(1+2y) .. x=
Y= 1 oy Y ARYTX y x(1+2y) =~ x 112y

: 1
SXxeR uf 14+42y#0 = y# =5 .. Dom f=9?-—{%}. Rangef=9?—{—l}.

20. f(x)=x(2a—x) 97 L T=H-

(a) a (b) 2a (c) 2a° (d) a’ (e) None
sarg: (d) ; f(x) = x(2a—x) =2ax—x*> .. f'(x)=2a-2x f'(x)=0 T, x —a.

f'(x)=—-2<0 ..Xx=a a7 & F% V¥ 9= &7 ¢%@, f(a) =a(2a—a)=a’.

21. J'nLlﬂ?TW"
0 /x(a—x)
(a) a—ﬂ; (b) g (c)m (e) None
s (o) < | dx s dx _ dx
1(€) 5 .[n\/x(a_x) ﬂ‘\/ﬂ—?{—'}iz _[

(BN
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] e

T4 Xx(cos2x + cos3x) T T G

x—0 2sInx
(a) 0 (b) 1 (c) 2 (d)3 (e) None
s 6 g (). 2 <1
/2
23. j ms_x dx 97 wT=H-
. 4—sInXx
(@) L1n(2) (b) lln[l] ©) L1n(3) (d) m(l] (e) None
2 4 \3 4 3

"? cosx 3—-dz 3 4
TA: (€) (2% = {inzf =In=.
(€); ;[4—sinx L Z [IHZL n3

4fd, 4 —sinx =z .. cosxdx=—dz .. cosxdx=-dz; x=0TE,z=4; x=§ﬂﬁ,z=3.

24. k-93 @IF T T 5X + 4y = 69k 2x +ky +9=0 @ 330 7 7w

S 2 2 5
a) — b) — c) —— d) —— e) None
(a) (b) 2 (©) -3 d) -2 ()
satyi: (d); @A RE AT IS T, 5x2+4xk=0 .‘.k=--§.
25, ol ek ARRT 8 3 WEHE A =3i+j-2k a®R B=i+3)—4k T ANRRET (RawE

offRrare-
(a) 3410 sq. unit (b) 10v/3 sq. unit (c) 5+/10 sq. unit (d) 10v/5 sq. unit (¢) None

Wﬂ?{:(e);ﬂmmoﬁrﬁ='Exﬁ|=\/22+101+82=2m
@, AxB=2i+10j+8k
26. "cnm-age"Waﬁeﬁrﬁwmﬁﬁmﬂﬂwﬂﬁ#ﬁwwmmﬁmﬁmwﬁm@mw-
(a) 720 (b) 2106 (c) 2160 (d) 1260 (e) None
AqgE: (c);courage .'.Wﬂﬁ‘f@mﬁﬂﬂﬁﬂwﬂ=3cl£&=216&
7. @5 ACF 415 =rer, 5B Fer @z 7% AW I AT | AR FACH Q6 LT AT I AMT ST YA 797

5 9 12 11
(a) 16 (b) v (c) e (d) e (e) None
A (d) ; TEEET = -:—;-
28. 3 tan20tan 6 =1 T¥, X O €I IF FEH?
s T T T
(a) < (b? J_r-ﬁ— (c) nnig (d) nn:iz (e) None
AYE: (¢) ; tan 20 tanf=1 = lz—tta:I;BB:l ::»tanzB:% tan9=—\—15. B=nnig.

ECR o () S
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29. [3}:3—3—1—) a7 [Pfere x 97 7t @AG?
X

10 5 1 0 1
(a) = ®) 3 () —— (d) -3 (¢) None

-5
30. 720 G 932 @O fodre o zte 44ft/sece 66ft/sec fetaes S o= | G 73 1573 ft e
AP FREE GO &y SO e @ﬁww:%—ﬂiﬁmmwmmﬁﬁEWW?

(a) 5ft/sec’ (b) —-ft/sec (c) 3ft/sec’ (d) 2ft/sec’ (e) None
44f/sec v\ =0 661t /
u, = seC v, = u, = sec dxgll = 0 2 g2
e (d) ; I——)K____' S, = 4 =94 ; S, = 3 2266
2f 2f 2f 2f
S, S, |
44> 66

AT, + o =—1573 . f==2ft/s® . wwa= 2ft/s>

2f
R

31. «Fas @ 48ms™ Q0T G T AT Tofq faces et 0 | I91f T 7303 207y AT R AT T BT BT
(a) 9.8sec & 117.55m (b) 8.9sec & 117.55m (¢) 9.8 sec & 171.55m
(d) 8.9 sec & 171.55m (e) None

2 2
Wmﬂ:(a);T=2u=2><48=9.85; H=u—=£=117.55m
g 9.8 2g 9.8

32.  COM M ALAE 60m PR JEPR M2 T @0 A0S T IS (7 o ST 0% 30° (AT Sye A
(a) 8.18 ms™ (b) 1.88 ms™ (c)81.84ms™  (d)18.43 m_s“l (e) None

2

TNY: (d); tan O & szrg tan O = +/60x 9.8 x tan 30° =18.43ms™
rg

33. R IFIE R = 6.4 x10°m a3 sfewder gao 9.8ms™ zwet 4RI 5 2 @I 387 I @ TS T4
(a) 1.12x10"m/s (b) 11.2x10°m/s (c) 2.11x10*m/s (d) 21.12x10*m/s(e) None

TA: (a); TR, v, = /2R =v2x9.8x6.4x10° =1.12x10*ms
34. a3 OAF G 2m IR AFTRWA CFaEe | mm> |EmﬁzrwmzﬂNaﬁrelemmqﬁW?
(Y =2x10"N/m?)
(a) 0.2x10"m (b) 2.0x10™*m (c) 20x10°m (d) 02x10°m (e) None
FL FL 20x 2

TgE:(b); Y=— " l=— = — —=2x10"m
Al AY 2x10" x10

JECT, | 7 |




35.* g5 @GN T IeTe e Wt ATBwef e Q0km /h QT S Zueg | it 0w 600Hz | anoesia
WO IS Fa0 & *3d W9re 9% 92 &9 @9= 340 m/s.

(a) 647.62Hz (b)674.62Hz (c)764.62Hz  (d)746.62Hz  (e) None
TargE: (a) ; Vs =90kmh™ =25ms™. f'= ¥ fm
- V=V, 340-25

36. ferom AWms 530t 0.5A 9= 2”12 3 min 20 sec @ 0.11183 g Fell &l I | FAR G IFRFE TE T2

x600=647.62ms".

(a) 1.1183x10°kgC"’ (b) 11.183x10°keC™
(c) 111.83x10°kgC™ (d) 8.1113x10°kegC"’ (¢) None
W 0.11183

sy (b) ; Z= =11.183x10"°kgc ™.

It 0.5x200
37. I B G-wrRerwdd 9w 22.5uT 9 7 fe 30° | @ F 9-thiwarwad SHefie SHARME TIF IFS?
(2) 1.95x10°T (b) 2.95x10°T (c) 2.59x10°T (d) 1.95x10”T (e) None
sre: (a) ; H=cosd=22.5xc0s30°=1.95x107T.
38. G FA-98 T (I (R S0cm I T @A IER IECE SIS (TS AT | TS HAS G R P
AT 25cm 89 IFIE A0S A1R?
(a)2D (b)3 D (c)4D (d)5SD (e) None
11 |
025 05

39. 6650%x107°m w77 tardiT FinEa sifofE vo?
(a) 9.186 eV (b) 6.169 eV (c) 18.69 eV (d) 1.869 eV (e) None

SagE: (e) ; P = 6D

e (d); E= S = ___ 869V,
A 6650x10
40. @3 Ay O TR Tazs @9z 0.85A @R Sfif 2[R 0.05mA | 23R AT 941s 97
(a) 0.99994 (b) 1.99994  (c) 0.49999 (d) 4.9999 (e) None
sgE: (a); I, =0.05mA, 1. =0.85A |
I I. 0.85

o fRAd a9s, o= -5 =

I, I.+I, 0.85+0.05x107

41. @3 f®s 1m/sec’ wavt Ao eg | Fretsa o wieieT w3 Jfe= &7 65 kg T, ol 770 351 S w2
(2) 475 N (b) 572 N (c) 590 N (d) 350 N (¢) None
sme: (b) : F=m(g—a)=65x%(9.8—1)=572N.

42. 80m THS! (I I G0 I (RITS AT G2 F@ha 20% I R A AfSTTe I+ AW, Ol 910 (IRTS
JfS (AT © THer TIra?
(a) 50 m (b) 56 m (c) 61 m (d) 64 m (e) None
srry: (d) ; @efie 799 ©f& = mgh =80mg.

20% ZI AMSA a7 9o & = %xSOmg=64mg; 64m T3 |

EC, | o §
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43. 730 T (T A @R B 1 3 A 93 0 B @a.fied @ B 97 (e 3s WOW A 93 (FEFIE 62
(a) 5.24s (b) 4.24s (c) 4.55s (d) 3.45s (e) None

sty (b); T oc VL .'.—Ti: Lo ST, =Ty x £“l“-=3:a-:\/§=-=1l.245.
T VLg Ly

44, ﬁﬁﬁ10—4111Wﬁﬁ?ﬂﬁﬁlﬂﬂﬁ‘ﬁﬁm&ﬁ@ﬁwﬁﬁTﬁﬁﬁﬁlwfﬁﬁmmMﬁﬁ?
(a) 10 m (b) 0.1m (c) 5x107m (d) 5x10”m (e) None
107 |

TEtE: (¢); R =3/1000 x =5x10""m.

45.  127°C @R 427°C Srmiars 1 167 @i 2feta TRy A% vl o 27

(a) 29.74% (b) 42% (c) 42.86% (d) 48% (e) None
FIYE: (C) ; 1]—(1—ﬂ} 100%=300%=42.86%. |
700 7
46. 4uF a7 4F aree Fifae st =1 = | St e (Rew To7
(a) IpF (b) 2puF (c) 4pF (d) 16pF (e) None
SIS (a); ——]—=l+l+l+—l— " Cg =1pF.

C. 4 4 4 4
47. 100wattmSﬁaﬁﬁﬁﬁmwmlﬁﬁﬁ?ﬁmwzsﬁﬁmwmﬁmﬁar

Il 237
(a) 210.00 (b) 220.00 (c) 225.00 (d) 230.00 (e) None
A (C); W [AgR 496 27 = 100x 5;: x130200x 30 Unit = 90 Unit.

6%

" 90 =90 x 2.5 =225.00 5= |
48. aﬁﬁ:ﬁwwwﬁ (ATF 18cm T3 FIo F41 AT | (FIFTT GIP F© Z0A S Mﬁaﬁ?—aﬁﬁ?ﬂﬂmm?

(a) 15 cm (b) 18 cm (c) 20 cm (d) 23 cm (e) None
AqYH: (a); m = — S Vv=3u=5%x18=90cm. .. l= : +- I = l + : =£ HT=15cm
u ~f u v 18 90 90
49. (1 IFI TGY 1500 327, TS 7 A o7 Wt wd 2@y :
(a) 2.555x10° days (b) 3.655x10° days
(c) 4.475x10° days (d) 5.476x10° days (e) None

Fre: (d) ; 1500 =9 = (1500%365) days = 5.476x10° days.
50. *MMed qFfG Sefe R 0T et a0z | SRS STereTes F 0o wiedet wa0g | ot
(a) F>>f (b)F>f (c)F=f (dF<f (e) None
GMm

3 M = HTTE9 ©F |

SI. (P19 ST FIERIZE 8 @S CHTeT G2 215 e T2

(a) 774.25F & 774.25K (b) 674.25F & 674.25K  (c) 574.25F & 574.25K
(d) 474. 25F & 474.25K (e) None
TAG: (C); ——ars = == == =22 x = 574.25K

CERGEERR 000 R T
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52. 0°C orm@E 1kg 37%@ 100°C SHN@R ANfHee ARee F90e F© SITHT AU I? 9T 1 e
3.36x10%J/kg @ #ifa msifiess et 4200J/ kg — K

(a) 37.7x10°]  (b) 75.4x10'T  (c) 113.1x10*J (d) 150.8x10*J (e) None
s (b) ; H =ml, + mSA0=(3.36x10" +4200x100)J =75.6x10"J.

53. TR 3R @7 @4E 2.205x 10" N/m? wa oy 7.85x10°kg/m’ | R foew =t @ T9?
(a) 5300 m/sec  (b) 530 m/sec (c) 53 m/sec (d) 5.3 m/sec (e) None
Y 2.205x10"

AL (@) ; v= _=J
0 7.85%10°

54. 3G 23BN Grew v Iere w80, 120, 16QQ W3R 20Q @Y @ =R | 594 IS IF TS A4
a0 @Y N FNICT & FACA &0 AT HHE? |

=5300ms™

0.5A
(a) 4Q (b) 8Q (c) 12Q d) 16Q () None 1000 g
P R G
ﬂﬂT’ﬂ?{:(a);—=§ —1 —
N f
.*.S=R;Q=16K12=24ﬂ. s (24 =20) = 4Q @4 @R AT TE FAC© A | Ty
55. 100Q @rd 9T TESHAIRGEE A 5Q @9 7T ITF IE I Ofey IeA A FAZF T T |
NTIETSTCANG I T4y T 0.5A AT #INST (9TET, T8I TeT &R F97?
(a) 1.05A (b) 10.5A (c) 105A (d) 0.105A (e) None
smre: (b) ; IR, = IRy - I = I';RG _05x100 o0, 121, 41, =10.5A.
S
56. (@I PRI TAWCT 9B WLF 3m A =T T | A1 efowmams 4/3 2, SFaba aFe Toael Fo?
(a) 9m (b) 6m (c) 8m (d) 4m (e) None
4

FigE: (d) ; u=E .‘.u=vp=3x§=4m.
\%

57. i @ DT 2fTAE T 1,33 R 2.4 T S WA @ TS #AffAre s @ 2.28x10°m/sec.

(a) 2.26x10°m/sec (b) 3.26x10°m/sec
(c) 1.26x10°m/sec (d) 3.28x10°m/sec ' (e) None
8
TAYE: (C) 5 HgVg =HyWVy - Vg = MoVy _1.33%2.28x10° 4 56 10° ms™.
Hy 2.4
58. qof6 IEE O IFER ST F = (9i—2j+ 2k)N T ST A0 (et T d = (2i+2j—k)m W
IES0 T TS S Afad $9?
(a) 18] (b) 9] (c) 6] (d) 12] (e) None

ster: (d); W=Fd=9x2+(-2)x2+2x(-1)=18-4-2=121J.
59. B1% 37 @ 27°C SEN@E @ [FHE SEA NS T SIay OF Wies f[ed 2
(a) 159K (b)1300K (c) 600K (d) 900K (e) None

T: (c); L = 2 =T, = Y2 4T = (2x300) = 600K.
T T V

| 2 |

TR, ) o
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60. SfER &R I 927 T4 L 0iedie 99 ©1ee 381 591 20 | 9% 0GR (Y GIITHFER T 397

T | i I T I
0 b 0 0 d 0 N
(a) T (b) T (c) o1 (d) ¢ (e) None
se: (d): 2m~=L.-.r=£; po Mol __ K, _ Tl
21 2r ) L L
x__
27

61. 20°C orem@m ¢ 1.5 bar 51t @3 5557 0.1m’ SIS W& FCF | W 0= S+ 7.5bar @ gfee w9 v
0.04m’ TS Wier L, ST M (419 SIorar I3 o |

(a) 293°C (b) 313°C (c) 586°C (d) 213°C (e) None
s (b) ; St = P2V . T, =220 7:3x0.04x293_ o0 4 130c.
T, 1, PV, 1.5x0.1
62. = A TG 700 nm F0T @ S AT FrefT 9 | [eE o= 3.0 x 10° ms-!
(a) 2.439x10*cm™ (b) 4.95x10%°cm™
(c) 24.39x10°cm™ (d) 49.50x10*cm™ | (e) None
ST (€) ; 9% A1, K = l = l N =142.86x10°m™ =1.43x10*cm™".
A 700x10
63. =mgFIRE Hfaw ¢ srebaze Hiftce @i G s ve? [Ans: d]
(a) 15 (b) 20 (c) 25 (d) 30 (e) None
64. fza fifermr zwe K,Cr,0,8 Fe(Il) #Rte7 (TR Seits @3 39 |
K,Cr,0, +7H,SO, + 6FeSO, — 3Fe, (80,); +K,SO, +Cr,(SO,), + 7H,0 [Ans: c]
(a)1:3 (b)1:5 (c)1:6 (d)2:3 (e) None
65. NET WENGTETR T97 (AT §E NE 39 | [Ans: b]
(a) [Al(OH)(H,0),}* () [AI(H,0),]" (c) [Fe(OH), (H,0),]
(d) [Cu(oH)H,0),] (¢) None
66. & FTF@e pH Breaw o7 Il Mg @ SoAmies toat [Ans: a]

(a) 72% Si0,, 22% Na,O and 6% Ca0O

(b) 72% Si0,, 22% Na,O and 6% Hg

(c) 70% Si0;, 24% Fe(OH); and 6% Fe,0;
(d) 72% Si0,, 20% Na,O and 8% CaO

(e) None

67.% a3 ey @ [Rfma 30% =g =7 1405 ¥ | O et 39 5<s 97
() 0.0002565™  (b) 0.02565™" (c) 0.00256s™"  (d) 2.56s! (e) None
wma:(::);k:iln a8 -1 3 =0.00256"".

t a—x 140 a—03a

B ) ST, | 1§




Sefomide sz g (R ; {é{f} 2 ). _  : KUET, CUET, RUET & 3 &

68. Hr=a chietefaa s 3G R+ (AtF Sn(50).¢F 5 T4 | [Ans: b]
(a) 1s%2s>2p®3s?3p®3d'°4s24p'°4d"*5s25p°6s'  (b) 1s?2s”2p®3s*3p°3d'°4s*4p°4d" 557 S5p’
(c) 1s?2s*2p°®3s?3p®3d'®4s*4p°4d'° 55° 5p' (d) 1s?2s%2p®3s*3p°3d'°4s?4p°4d'* 55* 5p°
(¢) None |
69. fAt=a AT ATTOGTE (AT FIIFEIR0 @S FAE 34 | [Ans: b]
(a) Na,B,0,.10H,0 (b) KCI . MgCl,.6H,0
(c) FeSO,.(NH,),S0,.6H,0 (d) K,0.Al,0,.6Si0, | (¢) None
70. ft=a i Fow? [Ans: e]
i Py ey
N H_T {I:IFH H_Tw x?l_H N
| | R
(a) H=C o O (b) H-C__C-H (c) H-C o Ot (d) H_[I: !_H (e) None
| | | ) g
H H H
e coiGo fifafes LT .
71. =g @t (@rF 7 Fiae TRy 2? [Ans: d]
(a) CH,CHO + NH,OH (b) CH,COCH, + NH, (c) HCHO + NH,
(d) C.H, —CHO + CH;NH, (e) None |
72. fama @ g3t Fe(Ill) @9 Sg AASSard IR F41 42 [Ans: b]

(a) NH,OH (b) NH,SCN (c) Na,S,0, (d) KMnO, (e) None
73. @ 93 387 0.202g ARE comerner 0.361g CO, @R 0.147g HoO Teoty 2 | SETesd o4t sAfwre

GRS
(a) 48.74% (b) 56.82% (c) 43.18% (d) 68.04% (e) None
sgE: (c) ; CO, @ C -a3 Afe = %xﬂjﬁlg
H,0 @ H -7 R = %x[}.lﬂr?g
12 2
5. 0.202g49 O-97 “fwe = .202-—(ﬂx0.361+ﬁx0.147}= 0.087g
- o AT = 2087 100 = 43.18%.
0.202
74. CuSO, 53t 2A @ e 60 min S1eT F0a SIS & #Afasre w1 e @2 [Cu=63.54]
(a) 2.368¢ (b) 2.30g (c) 3.268¢ (d) 3.30g (e) None

FaigE:(a) ; Q=It =2x60x60="7200C = 976250000F . Cu® (aq)+2¢ —Cu

-, 2F w41 o1 widl oifdes =7 63.54g Cu.

7200 . oraTz A1 S 2T 63.54x720{]g Cu=237g

96500 96500 2
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75. Tt wem et —890.3 KImol™' =z 1335.45K] S Teoly 0% T &I e eizie 22

(a) 24.4g (b) 2.44¢ (c) 24.0g (d) 25.0g (e) None
TAYE: (¢) ; 890.3K) S Seoiy I97w rare 16g CHs.

KUET, CUET, RUET &Y 8 AT

. 1335.45 k] 1+ Teoig Fare erare 15}{819303;-4% CH, 1, 24g CH,

76. ﬁmamﬁmmmwwwwqmm? [Ans: e]
(a) 2H,0,(aq) = C ->2H,0(1) + O,(g)
(b) 2H,0, (aq) —"2—2H,0(1) + 0,(g)
(¢) 2KCIO, (s)—2M%:_, 2K Cl(s) + 30, (g)
(d) S(COOH), +2KMnO, +3H,S0, - K,SO, +2MnSO, +10C0, +8H,0
(e) None | |
77. W o et Afie T [Ans: b]
(a) 350,(g)+ chrzo? (aq) + H,S0,(aq) —» K,SO,(aq) + Cr, (50,);(aq) + H,O(1)
(b) Cu(s)+2H,SO, (1) —» CuSO,(aq) + 2H,0O(]) + SO, (g)
(¢) Pb(CH,COO0),(aq) + H,S(g) — 2CHCOOH (aq) + PbS(s) + H,O(1)
(d) AL, Os(s) +2NaOH (aq) — 2NaAlO, (aq) + H,O(1)
(e) None
78. Wﬁmﬁahﬁrmﬁtﬁamﬂﬁmmc@a? [Ans: b]
(a) C, —-C, (b) C,-C, (c) C; -C, (d) C, =C, (e) None
79. 100°C =remam ¢ 1.0526 atm 51zt CO, VIR g 2o o7
(a) 1.512gL7"  (b) 2.120eL"  (c) 10.10 IgL™  (d) 5.329sL"  (e) None

o (a) : d = PM _ 1.0526x44 _

=]
RT 0.0821x373

(a) 1.59g (b) 10.60g (c) 2.18g (d) 0.53g (€) None
I () 3 1000mL 1M Na,CO, =106g Na, CO, ‘
200mL 0.075M Na,CO, = 106x0.0?Sg Na,CO, =1.59g Na,CO,
2 r 2
81. TxfRre RfdFm @y 25°C wrommam Kp @z sy 1.9x10%atm™, @32 Sremiany K . @7 Wi a1fes 39 |

2NO(g) +Cl,(g) = 2NOClI(g)

(a) 4.6x10° (b) 3.2x107 (c) 5.9%x10° (d) 102x10°  (e) None
K 1.9x10°
TgE: (@) ; K, =K (RT)*" ; K. = L = :
T (@) s Kp =K (RT) © RT)™ (0.0821x298)""
82. 0.020M Ba(OH), &3t pH faefar a7

(a) 12.60 (b) 5.36 (c) 8.12 (d) 11.24 (e) None
TA: (a) ; pH = 14— pOH =14 —log(2x 0.020) =12.60.

EC, )

=4.6x10*
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83. @M TyIfufes Aol aw e Ia? [Ans: c]
(a) CH,CH,CH =CH, (b) (CH,),C=CHCH,
(c) CH,CH =C(Cl)Br (d) CH,C(Cl) =CBr, (e) None
84. C,H.OH wifts @ Z Sig = Z, C,H,OH @ e R{fern o @Bk o o1 | Z 7 [Ans: b]
(a) HCOOH (b) CH;COOH (c) CH;CH,COOH
(d) CH3;COOC;Hs (e) None
85. @EILTIRT Fifde @Wv? | [Ans: b]
(a) 90% ethanol and 10% water (b) 95.6% ethanol and 4.4% water
(c) 70% ethanol and 30% water (d) 98% ethanol and 2% water (e) None
86. (MBI ITqy WM OFTGTIE AT (¥ 5 971 T AT Sl [Ans: ¢]
(a) Glycoside bond (b) Hydrogen bond | (c) Peptide bond
(d) Metalic bond (e) None
87. ZnCl, a7 Taif¥fere e SR Fta 300°C Sroar 8 T It TEE T & Teog =
(a) Benzene (b) Benzoic acid (c) Glucose (d) Nucleic acid (e) None
OH NH,
TArYE: (€)); @ +NH, if > @ +H,O0.
88. T @l0- | [Ans: b]
(a) Amino acid (b) Protein (c) Glucose (d) Nucleic acid (e) None
89. Xe 99 FoAIE FO? [Ans: a]
(a) 165.05K (b) 87.02K (c) 119.70K (d) 317.15K (e) None
90. ffEmfS =g =1 ;, Al + ;He — i P +......
(a) 2n (b) °e (c) {H (d) 3H (¢) None
Tr: (e) 5 1 Al+5He — P+ 1X. . q=27+4-30=1, p=13+2-15=0. ..X=n.
EN&I]
91. Choose the correct answer for translation of the following sentence int{; English. [Ans: d]

fSfF S FeT o7 F0e AFTS I |

(a) He could not come to school for 1llness.

(b) He could not come to school on account of illness.
(c) He could not come to school due to illness.

(d) He could not come to school because of illness.

(e) He could not come to school on account of his illness.
92. Select the correct answer for translation of the following sentence into Bengali. Too much courtesy too

much craft. ' [Ans: c]
(a) SfSfae T @1 14" 33 (b) Tafefae wret wfsflie e «fabre

(c) SIfoef& (oIaa T (d) @ @ Rt @ @ SRR e

(e) wfoegel wfs seglen AfbHE

' R | 44 &
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93. Choose the correct antonym of the word “Tall’ [Ans: d]
(a) Sort (b) Long (c) Small (d) Dwarf (e) None

94. Choose the appropriate word to fill in the blank of the following sentence. Change is the  of the day.
(a) Requirement  (b) Demand (c) Entertainment (d) Interest (¢) None [Ans: b]

95. Select the correct change of voice of the fblluwing sentence. Promise should be kept. [Ans: e]
(a) It should keep the promises. (b) One should keep his promises.

(c) You should keep your promises.  (d) Keep your promises.
(e) One should keep one’s promises. |
96. Find out the sentence with the correct form of verb of the following sentence. If 1 had seen him.
I (tell) him the matter. . [Ans: c]
(a) If I had seen him, I told him the matter.
(b) If I had seen him, I would tell him the matter.
(c) If I had seen him, I might have told him the matter.
(d) If I had seen him, I could tell him the matter.
(e) If I had seen him, I to be told him the matter,

97. Choose the correct sentence. [Ans: b]
(a) You will forget him gradually. (b) You will forget him by and by.
(c) You will forget him slowly. (d) You will forget him slow by slow. (e) None

98. What kinds of noun the word ‘infantry’ is? [Ans: c]
(a) Proper (b) Common (c) Collective (d) Material (e¢) None

99.  Choose the right answer for conversion of the following sentence as directed. When it was daylight, I was
half awakened by the sound of chopping. (Make it simple) [Ans: a]
(a) At daylight I was half awakened by the sound of chopping.
(b) The sound of chopping makes me half awakened.
(c) Day light awakened half me through sound of chopping.
(d) The sound of chopping half awakened me during daylight.
(e) None |

100. Read the following passage carefully and then choose the correct angwer of the question that follows:
Production of corn and Soya beans has increased dramatically in the last years as an eco-friendly
alternative to fossil fuels but environmental and human right campaigners are worried that this will lead
destruction of rain forests. Food prices could also go up as there is increased competition for crops as both
food stuffs and sources of fuel. Recently, the UN Warned that bio-fuels could have dangerous side effects
and said that steps need to be taken to make sure that land converted to grow bio-fuels does not damage
the environment or cause civil unrest. There is already great concern about palm oil, which is used in
many foods in addition to being an important bio-fuel, as rain forests are being cleared in some countries
and people driven from their homes to create palm oil plantations.

Question: What is the effect of increased production of bio-fuels? [Ans: e]
(a) It just affects the environment. (b) It just affects the food price.
(c) It just affects the land. (d) It just affects the people.

(e) It affects both people and the environment.
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